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Here too; by a buyer - P92 on1 RO

Overview

The X723 explained that the 73wn which stated yp° X? 07 12°K XY is in a case of a
buyer (f1?); for otherwise how could he be 720 (to the M2). There is a three way
dispute how to interpret 172"

- 999 29NV 1o90PN Y
»''"w9 explained that the tree is now in the possession of the seller —

mooIn disagrees:
- 2991193 913915 1Y N 19 DNT 25799 292 PNYY 139297 AN PPN)

And the 2''291 disagrees, for in that case (that the tree is by the seller), the X713

should have answered that the tree is by the seller (and not by the buyer) -
- >nmh 192 19INNY YI9Y 19 AN NN

Rather the 0"2°7 prefers to explain that the tree is by the buyer -

mooIn anticipates a difficulty:
=933 M DTP 1DANR DTP 1PINRNY NN NN MYPNY PN IIN DIWIVIN UM

And one cannot ask according to these two interpretations (of >"w7 and the
0"21), why does the mwn teach us the ruling of Y1 X in a case where the tree

preceded the pit, the rule of y1p° X% should also apply even if the pit preceded the

tree; MO0IN gives an example -
= DYVNPN YN N2N 99139 19NN YOI 7D NN NN NYY TAN DTNV 1D

For instance where one person dug a pit in his property and afterwards

planted a tree in his property, and then he either sold the pit according to >''2=p

that the 79°K remains 2217 N2 -
= INWY 915N2 29NVY NP2 KD 29799 5393 PNYY 13939 WIT9D 199N IN

Or he sold the tree according to the 2''3%9 'p; in either case there is no
requirement to chop down the tree (even though it will damage the pit which was

dug before the planting of the tree) since it was done permissibly. Why was it
therefore necessary for the 711wn to state that we do not chop off the tree if it was planted before the

!'See X371 7" *"w1 who writes; YIP? TX 7T 1R 112 19M ARI2A R AR WIRD WITW OXM 700 O"AKY WITW TN 10K YOIW DR
M2 wuIw 17°K. The tree is in the sellers field, where he had a right to plant it, so he need not chop it down when
his neighbor (the buyer) digs a pit in his field. See “Thinking it over’.
* We are continually discussing the 72X71 %92, so it should have said that the 17X is still by the 721
? The case is basically the same as according to *"w79, except that he sold the field and the tree, so if the seller
decides to dig a pit in his field, we cannot chop down the tree of the buyer since it was planted mw-2..
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pit, it will not be chopped off even if it was planted after the 712 as long as it was planted 7072 —

Mmoo responds that in this example given, it is not considered o7p 712:
- “37an Yya Nyayy 1PINN NPV NNTPY N2 NP DT 19X NI INND2Y

For in such a case we consider it that the tree preceded the pit, for the planting

of the tree preceded the complaint of the 912 owner -
= 19NN NY999 IN 912 N9 21> DY NIN N2 1N 9Y9yT

Since the =9y did not take place previously (when it belonged to the same

owner), only later through the selling of pit (°"w7°9%) or the selling of the tree
(@"27 "9Y) —

nooIn asks:
- 7AP199 *paginy 19X AN TR DIND NPYY NPIYA YDV *BN 13939 Y9999 Yax

However according to the explanation of the n''s, who explain that 'mpis’
means that the 19°X77 %v2 bought the tree from another person and the reason

why 71> X7 is because we (the 7"°2) argue on behalf of the Y -
=923 M DTP 1PANR DTP 1PN NIVIN INNI PNYY 13290 NVD

The >''1 has a difficulty with this n"75, for why does the 71wn teach that if the
tree preceded the 713, the rule is ° X?, when according to the n"99 even if the

72 preceded the tree, the rule should also be yi»> X% (since the seller had a right to
maintain the tree and this right is transferred to the buyer)?!

mMooIn has an additional difficulty on n"=2:

- S5 1a0 DIV 73 NPTNAT S9N DIV 72 19IN PITNNT 119 TN
And furthermore since we are discussing a case where the seller had a three
year 712117 for this tree, for it is only by a a%1w 's nprrr that we argue on behalf of

the buyer; why is it necessary to establish the 71wn by a 7 -

* D7p M2 means that when he wants to plant the tree there is an 757y from the M2 %v2 (regardless whether he dug
the pit it or not). However here since the owner is making both the 712 and the 178, there is no M1y by the planting
of the tree since it is the same owner. The 7w takes place only after there are two owners, the 11277 %¥2 and the 2v2
12°R77 but at that time the 12°X was planted n°13; it was 27p 12°X.
> The w"w" amends this to read X111 11°27 (instead of on 11°27). See '01n on the 1201 7"7 "2 TV,
% We say that perhaps the seller of the tree (to the current owner) came to an arrangement with the M2;1 %¥2 to allow
him to plant (or keep) the tree there (or some other claim that allows him to plant and maintain the tree). The seller
transfers this right to the buyer, therefore 712> K.
7 There is a general rule that if a buyer (or an heir) gets into a dispute with a third party, 72 claims on behalf of the
buyer (or heir) any claim which the seller (or the w>7) could have claimed.
¥ This rule that mp>> Tav (or wMY) is only if the seller had a o1w '3 npr in the property (the tree), for then we
assume that it is his property, therefore we transfer his rights to the buyer. however if the seller did not have '3 npmn
o°1w, we are not certain that it even belonged to the seller and therefore we are not 5% 1130.
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$ YO NNY VIV NPIN NY XY 39) NP
Let us establish it even without a Y, but with a 7P of three years, where the
7°%71 72 has a claim’ that he may keep his tree?!"

Summary
n”122 can mean either he sold the 712 and retained the tree (°"wA), he sold the tree

(0"2°M), or he bought the tree from a third party (n"9; and np1%% 13°190). The 72> of
the 72 or 17X is determined by its status when there was an ¥y (complaint).
According to the n" it would seemingly make no difference what was 2>7p.

Thinking it over
According to whom is there a greater w17°n (by a n”?) that y1»° X9; according to

»"w or the n"21?"!

? The claim of the 17°X71 %¥2 is the same as in footnote # 6. He will claim that he bought this right from the Ma7 ¥2,
or something similar. It will be valid for him as it was valid in the case of a seller.
' maoin does not answer. See 79w *19 (brought also in 7w N9m1) who answers these two questions.
' See (1"7y) X3 MR 717 N2W.
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